.2 Solving Multistep Equations  ZtAl <+

o NOTES ADDS UP!
Solving, Multistep Eduations iy,

5-n= -(n-2)+3

Rid the equation of any 2 (5-n)={-(n-2)+3
“funky fractions” (
Remember: multiply by the denominator on each 10-2n = - (n‘Z) +3

Use the distributive property, if 10-2n = -i n: ») V+3
applicable (see parentheses) 10-2n = “R+Z +3

Remember: - (n + 3) is the same as-1(n + 3)

. Combine like terms on each side  10-2n = -nf
of the equation, if applicable 10-2n =

the equation, and constant terms

to the other side of the equation.
Remember: add or subtract entire term from

Qeach side of the equation to move it
ST T T TSI T I—nf—:g —————— )
Isolate the variable to solve the s [ -T
equation. ~byiezh
n sl 5 /

.-.-——.—..—_...-——-——-_———————————-————————-——

Check your solution by plugging it back into the equation.

s your equation balanced? (One side of the equation should equal the other.)
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Examples

WB) -8= 2(x+2) (:ﬁ -1(1+7y) - CT1-¥)=326

8X—6-8=2x+4 -l-:_13+42u=30 ¢
- -l +yr =
Gx i = 2XHE ‘jyz* _L“
'OX-I = 4
_ +»z 4 71 |
¢x =19 |'j=5.
7 X = _ n
e +3)+ oxﬂ)-%@;kx + .5_)-_-.(‘1)b 243 both
-12x = q+2.-+x+_§='+3 p ?Amwwbv
|zx+ :té -,-'é' +§.% = sy m:ﬁ:{
12X = 3% +1p =5% )
2 12 '7@ —10
= ='.'L'i
X = 4 ,?_3& x-ﬁ
- 3]
TE _ B(X*tIs TAY~
OE(T\ OXTIE), ()
|
6O0-5(X+15)=20
o -Sx—15°% 20
| -Bx = 20
Wi
—2oX =
= -5 @

=7
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